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. &lojoq 1 - ISP2| DSL(Digital Subscriber Line Access Multiplexer)0i| CHEH £ 2% @173

. Layer 2.1 - ATM 24

. 210104 2.2 - PPPoA(Point-to-Point Protocol over ATM), PPPoE(Point-to-Point Protocol over
Ethernet), RFC1483 EZ|& EE= RFC1483 2t &

. dlojo{3- 1P
EHEREE AIRE 0|01 AYste 7P§>F +|2 Y2 show ip interface brief H&S A5 =
Aeluct.ol HHEol &2 -_r““'Oil EEPEP ZF CHELICH

827- ESC#show ip interface brief

Interface | P- Addr ess K? Met hod St at us Pr ot ocol
ATMO unassi gned YES manual up up
ATMO.1 unassi gned YES unset up up
Et her net O 10.10.10.1 YES manual up up
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Rout er #show interface atm 0
ATMD i s administratively down, |ine protocol is down
<... snipped ...>

ATMO QIE{H|O|A HEf7I EEl S™Mo 2 LR El 2 ATMO0 2/E{H 0| A0 A no shutdown HHEE
Alstst|C}
=20OH

Rout er #configure terminal

Enter configuration comrands, one per line. End with CNTL/Z.
Rout er (confi g) #interface atm 0

Rout er (confi g-if)#no shut

Rout er (confi g-if) #end

Rout er #write memory
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ATMO Q/EHH|O|A 7} CI2 L CIREIR =X = 2l5tE2{™ 2R E{2] enable 2 =04 A show interface
atm 0 BFHES AL}

Rout er #show interface atm 0
ATMD is down, |line protocol is down
<... snipped ...>
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Rout er #configure terminal

Enter configuration conmmands, one per line. End with CNTL/Z.
Rout er (confi g) #interface atm 0

Rout er (confi g-i f)#dsl operating-mode auto

Rout er (confi g-if)#end

Rout er #write memory
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ISP EE= T3 S| ZRE ol HEE d&Lct
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PPPoE T % 0{ A= PVC(Permanent Virtual Circuit) VPI/VClI(virtual channel identifier) /2 §3<2
2 AMSE 4|2 Yol gi&LICHPVC g2 22 = B2 ISPH B2l MAIL.

ISPOHIAM CIOIEI& 81 JU&L|7?

SHIE PVC 20| /= AR C}S CHH = ISP PPPE A5t AT st=X| &Qlste 724t
.O|=#| 3t24™ show interface atm0 HY S A5t T 224 2l £33 mZIS &=olghL|ct.

Rout er #show interface atm0
ATMD is up, line protocol is up



Hardware is DSLSAR (with Al catel ADSL Mbdul e)

MIU 4470 bytes, sub MIU 4470, BW 128 Kbit, DLY 16000 usec
reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on ATM | oopback not set

Encapsul ation(s): AAL5, PVC node

24 maxi mum active VCs, 256 VCS per VP, 1 current VCCs

VC idl e disconnect tine: 300 seconds

Last input 00:00: 00, output 00:00:00, output hang never
Last clearing of "show interface" counters never

Queueing strategy: fifo

Qut put queue 0/40, 0 drops; input queue 0/75, 0 drops

5 mnute input rate 5 bits/sec, 0 packets/sec

5 mnute output rate 7 bits/sec, 0 packets/sec

100 packets input, 5600 bytes, 0 no buffer

Recei ved 0 broadcasts, 0 runts, O giants, O throttles

O input errors, 0 CRC, O frame, O overrun, O ignored, 0O abort
250 packets output, 1400 bytes, 0 underruns

0 output errors, O collisions, 2 interface resets

0 output buffer failures, O output buffers swapped out

QI21 42! 7H2E{7} F7}5HH ISPOIA PPPOE B4t THZ!S Wrotof ELICH K| o2 B ISP
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PPPoEE 5 CHHZ ASELICHA Bimf EH7H= PPPoE MM MX 0|1 F Bim| EHHl= PPP &4
L|CHEZ PPP OH7HEd4E A5t 7| Mol PPPoEE Ad&d&HoF & L|CH 244 PPPoE M|440| Q= K]
EOlst= 7H 4|2 W2 show vpdn BE S A= ZdLCt
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Rout er #show vpdn

9%MNo active L2TP tunnels

9%MNo active L2F tunnels

9%MNo active PPTP tunnels

PPPoE Tunnel and Session Information Total tunnels 1 sessions 1
PPPoE Tunnel Information

Session count: 1

PPPoE Session Infornation

SID RemVAC LocMAC I ntf Vast Antf VP/ VC
0 0000.0000.0000 0000.0000.0000 UNKN ATMD 8/ 35

ol dloll M= e &EiQI PPPoE AM|M0| gi&LICt.ol= SID2| 01t RemMAC &
LocMAC0000.0000.00002 2 E A|E[LICt. O| & EJO|H Cl& Mo = FIEL|Ct
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Mo 2 HYEl PPPoE MM2 Ct33t Z &L,

Rout er #show vpdn

9%No active L2TP tunnels

9%No active L2F tunnels

PPPoE Tunnel and Session Information Total tunnels 1 sessions 1
PPPoE Tunnel Infornmation

Session count: 1



PPPoE Session | nformation
SID RemMAC LocMAC Intf Vast AQntf VP/ VC
1 0050. 7359. 35b7 0001. 96a4.84ac Vil UP ATMD 8/ 35

o] ofloi M= SID7F 00| or xxrom# RemMAC 2! LocMAC ZE7} 25 #MUX{ S &0lE £
U&LICHEE CHE 24| ot BOHEhPPP7I 3 Mo 2 HA LD QB EIREX| 0{F)ILICH
Vast7t UPQ! B< PPP7P MIHoZ Y4 U 2B KR} S Why can | access some web page
with PPPoE but not other(PPPoEZ A+06+04 =2 Y Ho|X|of HMAE = = O|R)E TI™E
£ UELICLMME HEFHAALLEFTI DOWNOID=| CtS MME Al TIELICH
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& PPPoE M :
| ot =& elslor & “j'

EfLFX

S

Rout er #debug vpdn pppoe-events
*Mar 3 21:49:38.030: Sending PADI. vc=8/35

*Mar 3 21:49:38.030: padi timer expired
*Mar 3 21:50:10. 030: Sending PADI: vc=8/35
*Mar 3 21:50:10.030: padi timer expired
*Mar 3 21:50:42.030: Sending PADI: vc=8/35
*Mar 3 21:50:42.030: padi timer expired
*Mar 3 21:51:14.030: Sending PADI. vc=8/35
*Mar 3 21:51:14.030: padi timer expired
*Mar 3 21:51:46.030: Sending PADI: vc=8/35
*Mar 3 21:51:46.030: padi timer expired

Rout er #undebug all

0| ofl0i A Cisco DSL 2t*E{= & 810| ISPO| PPPoE PADI(Active Discovery Initiation) Z2| &S

K&EXo 2 MEeL|CHPADI ZB|ee 2gdio| PPPoE &5 AAM Zf|el = & gl = |l |cH
ISP7} PADO(PPPOE Active Dlscovery Offen) 2 SH3IX| E’IQ‘:':' PPPoE ?;.“é* | d35tx| Z&
Ct.o| 2Ale| Ut XS ISP B2l5t= ALt

PPPoEE M&Xo Z 3 45tH debug vpdn pppoe-events £232 Ct21 Z&LCH

Rout er #debug vpdn pppoe-events

*Mar 3 21:49:38.030: Sending PADI. vc=8/35

*NMar 3 21:50:10.030: PPPOE: we've got our pado and the pado timer went off
*Mar 3 21:50:35.030: our PADR from PPPoE tunne

*Mar 3 21:50:50.030: IN PADS from PPPoOE tunne

Rout er #undebug all

PPPoE7I d3Moz HYEl B2 PPP ZX| a0l i ChE MldE A& Tl-g L/
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Z3dL|ct ol @5 ME Cisco DSL EP—rE-IOHA‘I OE'EJ.QI debug HH S A&S 5
LICHANESHE 7|2 CIHE CIH ppp YAMQILICEH O] WOl £E2342 HEXRIP
L|C}.

Rout er #debug ppp negotiation



PPP protocol negotiation debugging is on

Rout er #

2w3d: Vil PPP: No renote authentication for call-out
2w3d: Vil PPP: Phase is ESTABLI SH NG

2w3d: Vil LCP: O CONFREQ [Open] id 146 len 10

2w3d: Vil LCP: Magi cNunmber Ox8CCFOEL1E ( 0x05068CCFOELE)
2w3d: Vil LCP: O CONFACK [Open] id 102 Len 15

2w3d: Vil LCP: Aut hProto CHAP (0x0305C22305)

2w3d: Vil LCP: Magi cNurmber OxD945ADOA ( 0x0506D945AD0A)
2w3d: Di1l I PCP: Renpve route to 20.20.2.1

2w3d: Vil LCP: | CONFACK [ACKsent] id 146 Len 10

2w3d: Vil LCP: Magi cNunmber Ox8CCFOEL1E ( 0x05068CCFOELE)
2w3d: Vil LCP: State is Open

2w3d: Vil PPP: Phase i s AUTHENTI CATI NG by the peer
2w3d: Vil CHAP: | CHALLENGE id 79 Len 33 from "6400-2- NRP-2"
2w3d: Vil CHAP: O RESPONSE id 79 Len 28 from "John"
2w3d: Vil cCHAP: I SUCCESS id 79 Len 4

2w3d: Vil PPP: Phase is UP

2w3d: Vil IPCP: O CONFREQ [C osed] id 7 Len 10

2w3d: Vil I PCP: Address 0.0.0.0 (0x030600000000)

2w3d: Vil IPCP: | CONFREQ [REQsent] id 4 Len 10

2w3d: Vil I PCP: Address 20.20.2.1 (0x030614140201)
2w3d: Vil I PCP: O CONFACK [REQsent] id 4 Len 10

2w3d: Vil I PCP: Address 20.20.2.1 (0x030614140201)
2w3d: Vil IPCP: | CONFNAK [ACKsent] id 7 Len 10

2w3d: Vil I PCP: Address 40.1.1.2 (0x030628010102)
2w3d: Vil I PCP: O CONFREQ [ ACKsent] id 8 Len 10

2w3d: Vil I PCP: Address 40.1.1.2 (0x030628010102)
2w3d: Vil IPCP: | CONFACK [ACKsent] id 8 Len 10

2w3d: Vil I PCP: Address 40.1.1.2 (0x030628010102)
2w3d: Vil IPCP: State is Open

2w3d: Dil1 IPCP: Install negotiated IP interface address 40.1.1.2
2w3d: Dil IPCP: Install route to 20.20.2.1

Rout er #
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LCP(Link Control Protocol)7} QZ|X| &t

- 215 Aoy
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Rout er #debug ppp negotiation

*Mar 1 04:04:50.718: Vil PPP:. Treating connection as a callout

*Mar 1 04:04:50.718: Vil PPP: Phase is ESTABLI SHING Active Qpen [0 sess, 0 |oad]

*Mar 1 04:04:50.718: Vil PPP. No renpte authentication for call-out

*Mar 1 04:04:50.722: Vil LCP: o CONFREQ [Closed] id 1 Len 10

!--- "O" specifies an outbound packet. *Mar 1 04:04:50.722: Vil LCP. Magi cNunber 0x317722F4
(0x0506317722F4) *Mar 1 04:04:52.722: Vil LCP: TIMEout: State REQent *Mar 1 04:04:52.722: Vil
LCP: o CONFREQ [ REGsent] id 2 Len 10

!--- "O" specifies an outbound packet. *Mar 1 04:04:52.722: Vil LCP. Magi cNunber 0x317722F4
(0x0506317722F4) *Mar 1 04:04:54.722: Vil LCP: TIMEout: State REQ@ent *Mar 1 04:04:54.722: Vil
LCP: o CONFREQ [ REGsent] id 3 Len 10



*Mar 1 04:04:54.722: Vil LCP: Magi cNunber 0x317722F4 (0x0506317722F4)
*Mar 1 04:04:56.722: Vil LCP: TIMeout: State REQent

*Mar 1 04:04:56.722: Vil LCP: o CONFREQ [ REQsent] id 4 Len 10

*Mar 1 04:04:56.722: Vil LCP: Magi cNunber 0x317722F4 (0x0506317722F4)
*Mar 1 04:04:58.722: Vil LCP: TIMeout: State REQent

*Mar 1 04:04:58.722: Vil LCP: o CONFREQ [ REQsent] id 5 Len 10

*Mar 1 04:04:58.722: Vil LCP: Magi cNunber 0x317722F4 (0x0506317722F4)
*Mar 1 04:05:00.722: Vil LCP: TIMeout: State REQent

*Mar 1 04:05:00.722: Vil LCP: o CONFREQ [ REQsent] id 6 Len 10

*Mar 1 04:05:00.722: Vil LCP: Magi cNunber 0x317722F4 (0x0506317722F4)
*Mar 1 04:05:02.722: Vil LCP: TIMeout: State REQent

*Mar 1 04:05:02.722: Vil LCP: o CONFREQ [ REQsent] id 7 Len 10

!I--- "0" specifies an outbound packet. *Mar 1 04:05:02.722: Vil LCP: Magi cNunber 0x317722F4
(0x0506317722F4) Rout er #undebug all

O| £240{= o} HIRE TZ!2l O WZ!Et USLICHPPPE HB3XMoZ $Asied™ MEE 2 O If
Z1oi| CH3H ISPOIIA | QIHFR E miZ!0] Qlo{ok EFLICHoiZ! 0| QIHFREE S7F5HK|BH THZ!I0] E A
E|X| eto ™ |SPO]| 22|5104 Cisco DSL Bt REE MEE|E I|ZE EQISHAAIL.
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LCP7} ¥2|X| ot O|lRE YitXo =z pPP S440| Yx|SHX| &t 7| 2 LICH 0] 2 YUX|= Cisco
DSL I RE0 ISP M R|HH3HX| b= PPP Of7HE#d 7t 72 |04 RU7HLE ISPO| Cisco DSL 2+ E
7t X|235HR| b= of7Hed =Tt e A dhMigtLICt ol ER342 PPP M 2UX|C o E
Ho{EFEL|Ct.

Rout er #debug ppp negotiation
*Mar 1 04:52:43.254: Vil PPP: Treating connection as a call out

*Mar 1 04:52:43.258: Vil PPP: Phase is ESTABLI SHING Active Open [0 sess, 1 |oad]
*Mar 1 04:52:43.258: Vil PPP: No renmote authentication for call-out

*Mar 1 04:52:43.258: Vil LCP: O CONFREQ [Closed] id 3 len 10

*Mar 1 04:52:43.262: Vil LCP: Magi cNunber 0x31A2F808 (0x050631A2F808)

*Mar 1 04:52:43.310: Vil LCP: | CONFREQ [ REQsent] id 180 Len 14

*Mar 1 04:52:43.310: Vil LCP: AuthProto PAP (0x0304C023)

*Mar 1 04:52:43.310: Vil LCP: Magi cNunber 0x39D50E9B ( 0x050639D50E9B)

*Mar 1 04:52:43.314: Vil LCP: O CONFNAK [ REQsent] id 180 Len 9

!--- PPP option reject *Mar 1 04:52:43.314: Vil LCP: AuthProto CHAP (0x0305C22305) !/--- PPP
option that is rejected *Mar 1 04:52:43.314: Vil LCP: | CONFACK [REQsent] id 3 Len 10 *Mar 1
04:52:43.318: Vil LCP: Magi cNunmber 0x31A2F808 (0x050631A2F808) *Mar 1 04:52:43.366: Vil LCP: |
CONFREQ [ ACKrcvd] id 181 Len 14 *Mar 1 04:52:43.366: Vil LCP: AuthProto PAP (0x0304C023) *Mar 1
04:52:43.366: Vil LCP: Magi cNunber O0x39D50E9B (0x050639D50E9B) *Mar 1 04:52:43.370: Vil LCP: O
CONFNAK [ ACKrcvd] id 181 Len 9

!--- PPP option reject *Mar 1 04:52:43.370: Vil LCP: AuthProto CHAP (0x0305C22305) !/--- PPP
option that is rejected *Mar 1 04:52:43.418: Vil LCP: | CONFREQ [ACKrcvd] id 182 Len 14 *Mar 1
04:52:43.418: Vil LCP: AuthProto PAP (0x0304C023) *Mar 1 04:52:43.418: Vil LCP: Magi cNunber
0x39D50E9B (0x050639D50E9B) Rout er #undebug all

| I§Z] 0| = O THZ!0|E Configure-Negative-Acknowledge(CONNAK) = PPP Z4Z|22i[0|M & |
E LtEPHLICH Ol= PPP 4Z49| & ol M CHE Z0| o E £ QiALI =™ F :I'Lgilxl &TS
PPP S48 283 218 I0IEILIC Cisco DSL 212 E{7F CONNAK('0 CONNAK'Z E AIZ)E

& 5t™ Cisco DSL 2HRE = ISPHIM M&5tE SMo CHAH &g = ‘E.iHLP TME|X| pb&LICH
ISPOlA CONNAKE &= Z2("I CONNAK"Z EAE), ISPOIM +=&35HK| ot & SME Cisco
DSL 2t E{ol| -7 &Lct

CONNAK Fo| Z0ME HF & SMoi| CHslf dFefLICH O] oA £=30i| M S442 CHAPO|X[EF 2
I.

H
E MU £ USLICIPPP SMHE FMHE £+ UE Cisco DSL 2HRE{ 2| KU f%x|E QIE{THo|A
Clolded 1Lt QIE{H O|A CHo|[ded 1 ZAI|18l|o| S 2 24T show run interface dialer 1 &
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Rout er #debug ppp negotiation

00:34:29: Vil LCP:0o CONFREQ [ REQsent] id 53 Len 15

00:34:29: Vil LCP: AuthProto cHAP (0x0305C22305)

!--- Sends CHAP requests 00:34:29: Vil LCP: Magi cNumber 0x01B63483 (0x050601B63483) 00: 34: 29:
Vil LCP: 1 CONFREQ [ REQsent] id 252 Len 14

00:34:29: Vil LCP: AuthProto pap (0x0304C023)

!--- Receives PAP reqguests from the service provider 00:34:29: Vil LCP: Magi cNunmber O0xBC5233F9
(0x0506BC5233F9) 00:34:29: Vil LCP: O CONFREJ [ REQsent] id 252 Len 8 Router#undebug all
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Rout er #debug ppp negotiation

00:45:44: Vil LCP: 1 CONFREQ [Listen] id 141 Len 15

00: 45:44: Vil LCP: AuthProto cHAP (0x0305C22305)

!--- Receives CHAP requests from the service provider 00:45:44: Vil LCP: Magi cNunber O0xBC5C7DDC
(0x0506BC5C7DDC) 00: 45:44: Vil LCP: o CONFREQ [Listen] id 255 Len 14

00:45:44: Vil LCP: AuthProto pap (0x0304C023)

!--- Sends out PAP requests Router#undebug all

!--- Turn off ppp debug
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Rout er #debug ppp negotiation
*Mar 2 00:50:15.741: Vil PPP. Treating connection as a callout

*Mar 2 00:50:15.745: Vil PPP: Phase is ESTABLI SHING Active Open [0 sess, 1 |oad]
*Mar 2 00:50:15.745: Vil PPP: No renote authentication for call-out

*Mar 2 00:50:15.745: Vil LCP: O CONFREQ [C osed] id 177 Len 10

*Mar 2 00:50:15.745: Vil LCP: Magi cNunber Ox35EB5D4F (0x050635EB5D4F)

*Mar 2 00:50:15.789: Vil LCP: | CONFACK [ REQsent] id 177 Len 10

*Mar 2 00:50:15.793: Vil LCP: Magi cNunber Ox35EB5D4F (0x050635EB5D4F)

*Mar 2 00:50:17.241: Vil LCP. I CONFREQ [ ACKrcvd] id 203 Len 14

*Mar 2 00:50:17.241: Vil LCP: AuthProto PAP (0x0304C023)

*Mar 2 00:50:17.241: Vil LCP: Magi cNunber Ox3E1DLESE (0x05063E1D1ESE)

*Mar 2 00:50:17.245: Vil LCP: O CONFACK [ ACKrcvd] id 203 Len 14

*Mar 2 00:50:17.245: Vil LCP: AuthProto PAP (0x0304C023)

*Mar 2 00:50:17.245: Vil LCP: Magi cNunber Ox3E1DLESE (0x05063E1D1ESE)

*Mar 2 00:50:17.249: Vil LCP: State is Open

*Mar 2 00:50:17.249: Vil PPP. Phase is AUTHENTICATING, by the peer [0 sess, 1 |oad]
*Mar 2 00:50:17.249: Vil pAP. O AUTHREQ id 9 Len 14 from "ci sco"

I-—- "cisco" is the PAP username configured on this DSL router. *Mar 2 00:50:17.297: Vil PAP: I
AUTH-NAK id 9 Len 27 nsg i s "Authentication failure"
*Mar 2 00:50:17.301: Vil LCP: I TERMREQ [Open] id 204 Len 4

*Mar 2 00:50:17.301: Vil LCP: o TERMACK [Open] id 204 Len 4

*Mar 2 00:50:17.305: Vil PPP. Phase is TERMINATING [0 sess, 1 |oad]u
*Mar 2 00:50:19.305: Vil LCP: Tl MEout: State TERMsent

*Mar 2 00:50:19.305: Vil LCP: State is Closed

*Mar 2 00:50:19.305: Vil PPP. Phase is DOMWN [0 sess, 1 |oad]

PAP Q& 2|7t /= B2 LCP ¥El7I Open(H7I)2 2 0|S3ts Xe = la{ok &L|ChLCP o
EN7F HAE £ HIZ PPP7} Q15 EHHZ 0|Sste A 2 = AUSLICLEIS & & 5 stLtoll |
AUTH-NAK7} Z & E|0] Q= 729 PAP AI2X} O|8 = PAP &5 7} &2 |o &L|Ct.olmf o] &
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Rout er #configure terminal

Enter configuration comrands, one per line. End with CNTL/Z.
Rout er (confi g) #interface dialer 1

Rout er (confi g-if) #ppp pap sent-username

Rout er (confi g-if)#end
Rout er #write memory

CHAP M7} O[T &t 37} RHIEX| o{EH & = JU&LIM?

ISPOlA CHAPE A8 3= X| & QI8 % debug ppp negotiation 23S AEH5104 CHAP AF& X} O]
gt 257t SHHEX| & QlFLct.

Rout er #debug ppp negotiation

*Mar 3 02:51:47.287: Vil PPP: Treating connection as a call out

*Mar 3 02:51:47.287: Vil PPP: Phase is ESTABLI SHING Active Qpen [0 sess, 1 |oad]
*Mar 3 02:51:47.291: Vil PPP. No renpte authentication for call-out

*Mar 3 02:51:47.291: Vil LCP: O CONFREQ [Cl osed] id 188 Len 10



*Mar 3 02:51:47.291: Vil LCP: Magi cNunber O0x3B821FF1 (0x05063B821FF1)
*Mar 3 02:51:47.339: Vil LCP: I CONFREQ [ REQsent] id 204 Len 15

*Mar 3 02:51:47.343: Vil LCP: AuthProto CHAP (0x0305C22305)

*Mar 3 02:51:47.343: Vil LCP: Magi cNunber 0x43B3F393 (0x050643B3F393)
*Mar 3 02:51:47.343: Vil LCP: O CONFACK [ REQsent] id 204 Len 15

*Mar 3 02:51:47.347: Vil LCP: AuthProto CHAP (0x0305C22305)

*Mar 3 02:51:47.347: Vil LCP: Magi cNunber 0x43B3F393 (0x050643B3F393)
*Mar 3 02:51:47.347: Vil LCP: | CONFACK [ACKsent] id 188 Len 10

*Mar 3 02:51:47.351: Vil LCP: Magi cNunber O0x3B821FF1 (0x05063B821FF1)
*Mar 3 02:51:47.351: Vil LCP: State is Open

*Mar 3 02:51:47.351: Vil PPP: Phase is AUTHENTICATING, by the peer [0 sess, 1 |oad]
*Mar 3 02:51:47.395: Vil cHAP: | CHALLENGE id 1 Len 32 from "6400-2- NRP3"
*Mar 3 02:51:47.395: Vil cHAP: Using alternate hostnane cisco

*Mar 3 02:51:47.399: Vil cHAP: Usernane 6400-2- NRP3 not found

*Mar 3 02:51:47.399: Vil cHAP: Using default password

*Mar 3 02:51:47.399: Vil cHaAP: O RESPONSE id 1 Len 26 from "cisco"

!--- "cisco" is the CHAP username configured on this DSL router. *Mar 3 02:51:47.447: Vil CHAP:
I FATLURE id 1 Len 26 MS5G i s "Authentication failure"
*Mar 3 02:51:47.447: Vil LCP: | TERMREQ [Open] id 205 Len 4

*Mar 3 02:51:47.451: Vil LCP: O TERMACK [Open] id 205 Len 4

*Mar 3 02:51:47.451: Vil PPP: Phase is TERM NATING [0 sess, 0 |oad]
*Mar 3 02:51:49.451: Vil LCP: TIMeoout: State TERMsent

*Mar 3 02:51:49.451: Vil LCP: State is C osed

*Mar 3 02:51:49.451: Vil PPP: Phase is DOMNN [0 sess, 0 |oad]
Rout er #undebug all
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Rout er #configure terminal

Enter configuration comrands, one per line. End with CNTL/Z.
Rout er (confi g) #interface dialer 1

Rout er (confi g-i f)#ppp chap hostname

Rout er (confi g-if) #ppp chap password

Rout er (confi g-i f)#end
Rout er #write memory

PPP 2150| 438t A& o{EH & &+ JU&LI7?

O| oflof = M3 CHAP Ed S Eoq ELCH.

Rout er #debug ppp negotiation

<... snipped ...>

*Mar 3 03:30:09.335: Vil LCP: State is Open

*Mar 3 03:30:09.335: Vil PPP. Phase is AUTHENTI CATI NG, by the peer [0 sess, 1 |oad]



03:30:09.379: Vil CHAP: | CHALLENGE id 41 len 32 from "6400-2- NRP3"

03:30:09.379: Vil CHAP: Using alternate hostname cisco

03:30:09.379: Vil CHAP: Usernanme 6400-2- NRP3 not found

03:30:09.383: Vil CHAP: Using default password

03:30:09.383: Vil CHAP: O RESPONSE id 41 Len 26 from "cisco"

03:30:09.431: Vil CHAP: I SUCCESS id 41 Len 4

!-—-- CHAP negotiation was a success. *Mar 3 03:30:09.431: Vil pPpPP: Phase is UP [0 sess, 1 |oad]
<... snipped ...>

Rout er #undebug all
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Rout er #debug ppp negotiation

<... snipped ...>

*Mar 3 03:33:19.491: Vil LCP: State is Open

*Mar 3 03:33:19.491: Vil PPP: Phase is AUTHENTI CATI NG, by the peer [0 sess, 0 |oad]
*Mar 3 03:33:19.495: Vil PAP: O AUTH REQ id 255 Len 16 from "ci sco"

*Mar 3 03:33:19.539: Vil PAP: I AUTH-ACK id 255 Len 5

*Mar 3 03:33:19.539: Vil PPP: Phase is UP [0 sess, 0 | oad]

!--- PAP negotiation was a success. <... Shipped ...> Router#undebug all
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Cisco |IOS® Software Release 12.2(2)XH2] ip adjust-mss B & 0| ip tcp adjust-mss <mss value>Z=
HZAZ|RASLICEH 0| 843 AFEF2 Cisco 800 Series 2H2E{ 2! Cisco 820 Series Routers for Cisco
IOS Release 12.2(2)XH9_| 2EI|A T Eo AEE|o] Q& LICEH.

!

vpdn enabl e

no vpdn | oggi ng

!

vpdn- group pppoe

request-dialin

prot ocol pppoe

!

interface ethernetO
no shut
i p address <ip address> <subnet nmask>
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ip adjust-mss 1452
!-—-- The TCP MSS command requires an MSS of 1452, not 1492. ip nat inside no ip directed-

broadcast ! interface atnD no shut no ip address no ip directed-broadcast no atmil m -keepalive
bundl e-enable ! interface atnD.1 point-to-point no ip directed-broadcast pvc <vpi/vci> pppoe-
client dial-pool-nunber 1! | interface dialerl ip address negotiated ntu 1492 ip nat outside

encapsul ati on ppp

di al er pool 1

ppp chap hostname <usernane>

ppp chap password <passwor d>

ppp pap sent-usernane <usernanme> password <passwor d>
1

ip nat inside source list 1 interface dialerl overload
!
ip classless
iproute 0.0.0.0 0.0.0.0 dialerl
access-list 1 permit
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